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SECTION I
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	11. 
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SECTION II
	No.
	Marking scheme
	Marks
	Comments
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	(a) (i)[image: image345.png]x+y > 600




[image: image346.png]x< 500
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[image: image348.png]x>0;y >0




(ii)graph
[image: image349.png]



(b) objective function: 1000x + 800y
possible values:

(480, 240); (495, 245); (499,249) etc
 [image: image351.png]


1000(480) + 800(240) = Ksh 672,000
[image: image353.png]


1000(495) + 800(245) = Ksh 691,000
[image: image355.png]


1000(499) + 800(249) = Ksh 698,200

Hence, max. cost = Ksh 698,200
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